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The combination for your lock is given to you by your teacher. The combination
is made up of three numbers. When entering your combination, you must enter
the numbers in the order shown on the combination tag. DO NOT share your
combination with anyone.

The combination
for this lock is:

38-16-22




STEP 1: Turn the dial three times to the right, then stop when the first number lines up with the
indicator.

First Number: 38




STEP 2: Turn the dial ONE full turn to the left, passing the first number, and stop when the second
number lines up with the indicator.

Second Number: 16




STEP 3: Turn the dial to the right and stop when the third number lines up with the indicator.
Third Number: 22




STEP 4: Either pull up on the shackle, or pull the lock down to open the lock.

Yay! You did itl If it
didn't work, go back to
Step 1 and try it again.
You'll get the hang of it!

DON'T FORGET YOUR COMBINATION! Keep your combination in a safe place.



